Midterm 1 (60 minutes) _ July 13, 2017

Directions:

e You have 60 minutes to complete this exam.

No graphing calculators are allowed.

You are allowed one hand-written sheet (two sided is ok) of notes on regular 8.5-11 paper.

You must show ALL your work.
¢ Leave answers in EXACT FORM or record up to 2 DECIMAL PLACES.

If you have any questions, raise your hand.

Question | Points | Score

1 15
2 20
3 10
4 10

Total: 55




| (‘b . | ,
) /50 [i\'fv’[ﬂim @3%

v (t): 4%, e
(t) C—I—éf,t X, =D [205¢c

/\. ’/.]R_L
',, . _“360
160,0) Qﬁbﬂ“ - e £ e
60,0 Y () L |
A~ aterdew LT
/ :t‘ ZS‘ (t ) A 3;———‘——_——-“__. R
£
/Vlcg nesson | “t2c015¢) _1isO
| el /5“0
Sulbont 59z ~ (50
/ r”kaC.cé |
-
FA2 (e
Ly y , ~HxX .
/é‘/ :“25.6 ?

d) - et g

Jﬁ ¢ "%wé + ( 2600 :
Win | (
@ o _
é/Z,c:( ( ( — Yo '
3 iz :
_bse €7 / )

“§O-Feq



2. A parabola contains the three points, (0,—12),(2,4), and (5, —2).
(a) (5 points) Write the equatlon of the pa,ra,bola, in standard form f(z) = 0z® + bz +c.
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(b) (5 points) Convert f(x) into vertex form f(z) = a(z —h)? + k and then sketch a graph of y = f(z),
labeling the vertex.
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(¢) (5 points) Sketch y = |f(z)|, and write the associated multipart rule.
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(d) (5 points) Let g{z) =z — 2. Sketch the compositions fog(z) and ge f(z), labeling ihe coordinates
of the vertex for each. (HINT: Can vou express what is happening in terms of shifts?).
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-3. (10 points) You would like to build a rectangular enclosure partitioned into a grid, as pictured below.
The exterior fencing (solid lines) costs $25 a foot, and the fencing for the interior partitions (dashed
lines) cost $12 a foot. If you have $11500 to spend, what is the maximum area you can enclose?
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4. (10 points) Oscar wanders aimlessly through through the Utah desert. He first walks Fast at 3 mph for
3 hours. He then walks south at 4 mph for 1.5 hours. Finally he walks west at 2 mph until he reaches a
water source 6 miles south and 2 miles east of his starting point. There he stops. His path should like
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Write a function d(¢) for his distance (in miles) after ¢ hours of wandering. This should be a multipart
function, and you should assume Qscar stops moving once he reaches the water source.
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